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Surface Area of a Rectangular Prism 
 Name:__________________________                                                                                                                          Date:___________________ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Find the length, width and height of the rectangular prism. Then find the surface area. 
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Find the length, width and height of the rectangular prism. Then find the surface area. 
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